Provided for non-commercial research and educational use. Not for reproduction, distribution or commercial use.

# Mathematica Balkanica

Mathematical Society of South-Eastern Europe
A quarterly published by
the Bulgarian Academy of Sciences – National Committee for Mathematics

The attached copy is furnished for non-commercial research and education use only. Authors are permitted to post this version of the article to their personal websites or institutional repositories and to share with other researchers in the form of electronic reprints.

Other uses, including reproduction and distribution, or selling or licensing copies, or posting to third party websites are prohibited.

For further information on Mathematica Balkanica visit the website of the journal http://www.mathbalkanica.info

or contact:

Mathematica Balkanica - Editorial Office; Acad. G. Bonchev str., Bl. 25A, 1113 Sofia, Bulgaria Phone: +359-2-979-6311, Fax: +359-2-870-7273, E-mail: balmat@bas.bg



New Series Vol. 13, 1999, Fasc. 3-4

### Bounds and Numerical Methods for the Unique Positive Root of a Polynomial <sup>1</sup>

V. H. Hristov, N. V. Kyurkchiev

Presented by Bl. Sendov

In this paper we obtain some lower and upper bounds for the unique positive root of the algebraic equation  $t^n - \sum_{i=1}^n a_i t^{n-i} = 0$ . Two-sided methods for calculating of positive root of this equation are considered. Such results are important for the determination of the R-order of convergence of iterative processes in numerical analysis, also in the financial mathematics.

AMS Subj. Classification: 65H05

Key Words: upper and lower bounds for positive roots of algebraic equations, two-side method, quadraticaly convergence, spectral radius, R-order of convergence

#### 1. Introduction

Let IP denote an iterative process that produces a sequence of approximations  $\{t^{(k)}\}$  with the limit point  $t^*$ . For the errors

$$\epsilon^{(k)} = ||t^* - t^{(k)}||,$$

it is often possible to derive a difference inequality like

(1) 
$$\epsilon^{(k+1)} \le \alpha \prod_{i=0}^{n-1} \left( \epsilon^{(k-i)} \right)^{a_{i+1}}, \ a_i \ge 0, \ i = 1, 2, \dots, n, \ \alpha > 0, \ k \ge n-1.$$

According to Schmidt [6], the recurrence (1) has the R-order of convergence  $O_R(IP, t^*)$  of at least  $\sigma$ , where  $\sigma$  is the unique positive root of the equation

(2) 
$$p(t) := t^n - \sum_{i=1}^n a_i t^{n-i} = 0, \ a_i \ge 0, \ i = 1, 2, \dots, n.$$

Various estimations for  $\sigma$  can be found in Herzberger [2], Kyurkchiev [4], M. Petkovic and L. Petkovic [5]. In this paper we give another estimations.

<sup>&</sup>lt;sup>1</sup>This work is partially supported by the Bulgarian Ministry of Education and Science, under Contract MM-515/95

The following theorem by Deutsch [1] is more often applicable: Let  $A = (a_{ij})$  be a non-negative irreducible  $n \times n$  matrix and let  $x = (x_1, x_2, \ldots, x_n)^T$  and  $y = (y_1, y_2, \ldots, y_n)^T$  be positive vectors satisfying

$$Ax = Dx$$

$$A^T y = D y$$

for some positive diagonal matrix

$$D = \operatorname{diag}(d_1, d_2, \ldots, d_n).$$

If x is not the Perron vector of A, then

(3) 
$$\rho(A) \ge \prod_{i=1}^n d_i^{\frac{d_i x_i y_i}{y^T D x}} \ge \frac{y^T D x}{y^T x},$$

where  $\rho(A)$  is the spectral radius of the matrix A.

#### 2. Main results

The first estimations for positive root  $\sigma$  based on Deutsch's theorem with  $x = (1, 1, ..., 1)^T$  can be found in [5]. We will use the same theorem for arbitrary positive vector x.

**Theorem 1.** For arbitrary positive  $x_1, x_2, \ldots, x_n$ , for the positive root  $\sigma$  of the polynomial p(t) the following estimations hold:

(4) 
$$\sigma \ge \left(\sum_{i=1}^n a_i x_i\right)^{\sum_{i=1}^n a_i x_i / \sum_{i=1}^n i a_i x_i} \exp \left(-\frac{\sum_{i=1}^n a_i x_i \ln x_i}{\sum_{i=1}^n i a_i x_i}\right)$$

and

(5) 
$$\sigma \ge \frac{\sum_{i=1}^{n} ia_i x_i}{x_1 + \sum_{i=2}^{n} \mu_i a_i x_i},$$

where

$$\mu_i = \sum_{k=1}^{i-1} \frac{x_{k+1}}{x_k}, \quad i = 2, 3, \dots, n.$$

Proof. Let us associate with the polynomial p(t) the corresponding matrix

$$A = \left(\begin{array}{ccccccccc} a_1 & a_2 & a_3 & \dots & a_{n-1} & a_n \\ 1 & 0 & 0 & \dots & 0 & 0 \\ 0 & 1 & 0 & \dots & 0 & 0 \\ \vdots & & & & & \\ 0 & 0 & 0 & \dots & 1 & 0 \end{array}\right)$$

with  $\det(A - tI) = (-1)^n p(t)$ . The matrix A is non-negative and irreducible. By the Perron-Frobenius theorem, this implies that A has a positive eigenvalue equal to its spectral radius  $\rho(A)$ , i.e.  $\rho(A) = \sigma$ . From the relation Ax = Dx we find

$$d_1 = \frac{1}{x_1} \sum_{i=1}^n a_i x_i, \ d_k = \frac{x_{k-1}}{x_k}, \ k = 2, 3, \dots, n.$$

Then the system

$$(A^T - D)y = 0$$

yields

$$y_1 = 1, \ y_k = \frac{1}{x_{k-1}} \sum_{i=1}^n a_i x_i, \ k = 2, 3, \dots, n.$$

Now, we have

$$y^T D x = \sum_{i=1}^n i a_i x_i,$$

(7) 
$$d_k x_k y_k = \sum_{i=k}^n a_i x_i, \ k = 1, 2, ..., n,$$

(8) 
$$y^T x = x_1 + \sum_{i=2}^n \mu_i a_i x_i.$$

According to (7), we have

$$\begin{split} \prod_{i=1}^{n} d_{i}^{d_{i}x_{i}y_{i}} &= \left(\sum_{i=1}^{n} a_{i}x_{i}\right) \sum_{i=1}^{n} a_{i}x_{i}} \left(\frac{1}{x_{1}}\right) \sum_{i=1}^{n} a_{i}x_{i}} \left(\frac{x_{1}}{x_{2}}\right) \sum_{i=2}^{n} a_{i}x_{i}} \\ &= \left(\sum_{i=1}^{n} a_{i}x_{i}\right) \sum_{i=1}^{n} a_{i}x_{i}} \prod_{i=1}^{n} \left(\frac{1}{x_{i}}\right)^{a_{i}x_{i}} \\ &= \left(\sum_{i=1}^{n} a_{i}x_{i}\right) \sum_{i=1}^{n} a_{i}x_{i}} \exp\left(-\sum_{i=1}^{n} a_{i}x_{i} \ln x_{i}\right). \end{split}$$

From the last expression, (6) and from the left inequality in (3) we get (4). From (6), (8) and inequality (3) we have (5). The proof is complete.

#### 3. Special choise of the parameters

The vector  $x = (x_1, x_2, ..., x_n)^T > 0$  can be taken in arbitrary way. First, if we choose  $x_i = \lambda^i$ , i = 1, 2, ..., n,  $\lambda > 0$  we get the following result.

**Theorem 2.** For arbitrary positive  $\lambda$  for the positive root  $\sigma$  of the polynomial p(t) the following estimations hold:

(9) 
$$\sigma \ge \frac{1}{\lambda} (q(\lambda))^{\frac{q(\lambda)}{\lambda q'(\lambda)}},$$

and

(10) 
$$\sigma \ge \frac{q'(\lambda)}{q'(\lambda)\lambda - q(\lambda) + 1},$$

where 
$$q(\lambda) = \sum_{i=1}^{n} a_i \lambda^i$$
.

Proof. Substituting  $x_i = \lambda^i$ , i = 1, 2, ..., n, for the first multiplier in the right hand side of (4) we have

$$\left(\sum_{i=1}^{n} a_i x_i\right)^{\sum_{i=1}^{n} a_i x_i / \sum_{i=1}^{n} i a_i x_i} = q(\lambda)^{q(\lambda) / \sum_{i=1}^{n} i a_i \lambda^i} = q(\lambda)^{q(\lambda) / \lambda q'(\lambda)}$$

and the second multiplier in the right hand side of (4) gets the form

$$\exp\left(-\frac{\displaystyle\sum_{i=1}^{n}a_{i}x_{i}\mathrm{ln}x_{i}}{\displaystyle\sum_{i=1}^{n}ia_{i}x_{i}}\right)=\exp\left(-\frac{\displaystyle\sum_{i=1}^{n}a_{i}\lambda^{i}i\mathrm{ln}\lambda}{\displaystyle\sum_{i=1}^{n}ia_{i}\lambda^{i}}\right)=\exp(-\mathrm{ln}\lambda)=\frac{1}{\lambda}\,,$$

and so we get (9).

Analogously, substituting in (5)  $x_i = \lambda^i$  we find

$$\frac{\sum_{i=1}^{n} i a_i x_i}{x_1 + \sum_{i=2}^{n} \mu_i a_i x_i} = \frac{\lambda q'(\lambda)}{\lambda + \sum_{i=2}^{n} (i-1) a_i \lambda^{i+1}} = \frac{\lambda q'(\lambda)}{\lambda + \left(\frac{q(\lambda)}{\lambda}\right)' \lambda^3}$$
$$= \frac{\lambda q'(\lambda)}{q'(\lambda) \lambda^2 - q(\lambda) \lambda + \lambda} = \frac{q'(\lambda)}{q'(\lambda) \lambda - q(\lambda) + 1},$$

which gives estimation (10). The proof is complete.

Remark 1. We can prove that

(11) 
$$q\left(\frac{1}{\sigma}\right) = 1.$$

Evidently,

$$0 = p(\sigma) = \sigma^{n} - \sum_{i=1}^{n} a_{i} \sigma^{n-i} = \sigma^{n} \left( 1 - q \left( \frac{1}{\sigma} \right) \right),$$

i.e.  $q\left(\frac{1}{\sigma}\right)=1$ , because  $\sigma>0$ . Using (11) we see that equality in (9) and (10) is attained for  $\lambda=\frac{1}{\sigma}$ . Consequently, if we choose  $\lambda$  to be near  $\frac{1}{\sigma}$ , then the estimations (9) and (10) will be more precisely.

We observe that in the case  $\lambda=1$  the estimation (9) has the following simple form

(12) 
$$\sigma \ge \left(\sum_{i=1}^n a_i\right)^{\sum_{i=1}^n a_i / \sum_{i=1}^n i a_i}$$

Let the coefficients of the polynomial p(t) be such that for  $i = i_1, i_2, \ldots, i_m$ ,  $a_i > 0$ , and for  $i \neq i_1, i_2, \ldots, i_m$ ,  $a_i = 0$ . In that case we give another choise for the values of  $x_1, x_2, \ldots, x_n$  in (4), but in such manner that  $\sum_{i=1}^n a_i x_i = 1$ .

**Theorem 3.** For the positive root  $\sigma$  of the polynomial  $p(t) = t^n - \sum_{k=1}^m a_{i_k} t^{n-i_k}$  the following estimations hold:

(13) 
$$\sigma \geq m^{m/\sum_{k=1}^{m} i_k} (a_{i_1} a_{i_2} \dots a_{i_m})^{1/\sum_{k=1}^{m} i_k}.$$

Proof. Let

$$x_i = \frac{1}{ma_i}, \ i = i_1, i_2, \dots, i_m$$

and  $0 < x_i$  be arbitrary for  $i \neq i_1, i_2, \ldots, i_m$ . The first multiplier in the right hand side of (4) is equal to 1, and for the second one we have

$$\exp\left(-\frac{\sum_{i=1}^{n} a_{i} x_{i} \ln x_{i}}{\sum_{i=1}^{n} i a_{i} x_{i}}\right) = \exp\left(\frac{\frac{1}{m} \sum_{k=1}^{m} \ln(m a_{i_{k}})}{\frac{1}{m} \sum_{k=1}^{m} i_{k}}\right) = \exp\left(\frac{\ln\left(m\left(a_{i_{1}} a_{i_{2}} \dots a_{i_{m}}\right)^{\frac{1}{m}}\right)}{\frac{1}{m} \sum_{k=1}^{m} i_{k}}\right)$$

$$= m^{m/\sum_{k=1}^{m} i_{k}} \left(a_{i_{1}} a_{i_{2}} \dots a_{i_{m}}\right)^{1/\sum_{k=1}^{m} i_{k}}.$$

In the special case m = 1,  $i_1 = k$  the estimation (13) can be rewritten as

$$\sigma \geq a_k^{\frac{1}{k}}$$

i.e. the equality in (13) is attained, because for  $p(t) := t^n - a_k t^{n-k} = 0$  we have  $\sigma = a_k^{\frac{1}{k}}$ . The proof is complete.

Another special choose can be the following

$$x_{i_k} = \frac{a_{i_k}^{\nu_k - 1}}{a_{i_1}^{\nu_1} + a_{i_2}^{\nu_2} + \ldots + a_{i_m}^{\nu_m}}, \quad k = 1, 2, \ldots, m,$$

where  $0 < x_i$  are arbitrary for  $i \neq i_1, i_2, \ldots, i_m$ , and  $\nu_1, \nu_2, \ldots, \nu_m$  are completely arbitrary numbers. We see that the equality  $\sum_{i=1}^{n} a_i x_i = 1$  is true.

Very often the following polynomial equations arise by the determination of the rate of convergence of IP:

(14) 
$$p(t) := t^n - (p+1) \sum_{i=1}^n r^{i-1} t^{n-i} = 0, \ p \ge 0, \ r > 0.$$

There exist explicit upper and lower bounds for the positive root  $\sigma$  of (14) (see [2]):

Bounds and Numerical Methods for ...

(15) 
$$\frac{n}{n+1}(p+r+1) \le \sigma \le p+r+1,$$

$$(16) \ p+r+1-\frac{(p+1)r^n}{(p+r+1)^n}\left(1+\frac{1}{n}\right)^n \le \sigma \le p+r+1-\frac{(p+1)r^n}{(p+r+1)^n} \ .$$

We observe that the coressponding polynomial  $q(\lambda)$  to the equation (14) is of the form

$$q(\lambda) = \frac{p+1}{r} \sum_{i=1}^{n} (r\lambda)^{i} = \frac{(p+1)\lambda}{1-r\lambda} (1-(r\lambda)^{n}).$$

In spite of Remark 1, we find that for  $\lambda_0 := \frac{1}{1+p+r}$  such that  $\frac{(p+1)\lambda_0}{1-r\lambda_0} = 1$  and  $q(\lambda_0) = 1 - (r\lambda_0)^n \approx 1$ . Then for the positive root of the equation (14) the estimations (9) and (10) with  $\lambda = \lambda_0 := \frac{1}{1+p+r}$  can be rewritten respectively as

$$\sigma \geq \frac{1}{\lambda_0} \left( 1 - (r\lambda_0)^n \right)^{\psi_{p,r,n}} = (1 + p + r) \left( 1 - \left( \frac{r}{1 + p + r} \right)^n \right)^{\psi_{p,r,n}},$$

where

$$\psi_{p,r,n} = (1+p)\lambda_0 \frac{1 - (r\lambda_0)^n}{1 - (r\lambda_0)^{n+1} - (n+1)(p+1)\lambda_0 (r\lambda_0)^n}$$

and

$$\sigma \ge \lambda_0^{-1} - (p+1) \frac{(r\lambda_0)^n}{1 - (r\lambda_0)^{n+1} - n(p+1)\lambda_0(r\lambda_0)^n} \ .$$

Comparing with (15) and (16), we see that the last estimations have a good order of exactness.

Remark 2. Several problems in the classical financial mathematics lead to a class of polynomial equation [3],

$$P(x) = Cx^{n} - \sum_{j=1}^{n-1} B_{j}x^{n-j} - A = 0$$

with only one single positive root (bound for the effective rate of an annuity with geometrically growing payments), where A is the purchase price of the bond paid to the issuer;  $B_j \equiv B$  is a periodic payment paid according to the contract rate of the bond; C = K + B, where K is the purchase rate of the bond when sold at the bond market; n is the term of the bond (usually number of full years or months).

The explicit bounds for the unique positive root in the term of finance can be obtained using the approach given in this paper.

## 4. Numerical methods for solving the positive root of the equation (2)

From (11) we see that the equation F(t) := q(t) - 1 = 0 has the unique positive root equal to  $\frac{1}{\sigma}$ . Evidently for the function F(t) we have F'(t) > 0, F''(t) > 0 for all positive t. The estimations (9) and (10) gives the following estimations for the positive zero of the equation F(t) = 0

(17) 
$$\frac{1}{\sigma} \le \lambda (q(\lambda))^{-\frac{q(\lambda)}{\lambda q'(\lambda)}},$$

(18) 
$$\frac{1}{\sigma} \le \lambda - \frac{q(\lambda) - 1}{q'(\lambda)},$$

for every  $\lambda > 0$ . Let mention that equality in (17) and (18) is attained for  $\lambda = \frac{1}{\sigma}$  and

(19) 
$$\frac{1}{\sigma} \le \lambda (q(\lambda))^{-\frac{q(\lambda)}{\lambda q'(\lambda)}} \le \lambda - \frac{q(\lambda) - 1}{q'(\lambda)}.$$

We define for arbitrary  $\lambda_0 > 0$  the following iteration formulae

(20) 
$$\mu_{k+1} = \mu_k(q(\mu_k))^{-\frac{q(\mu_k)}{\mu_k q'(\mu_k)}}, \quad k = 0, 1, 2, \dots, \quad \mu_0 = \lambda_0;$$

(21) 
$$\lambda_{k+1} = \lambda_k - \frac{q(\lambda_k) - 1}{q'(\lambda_k)}, \ k = 0, 1, 2, \dots$$

We remarked that the iteration (21) is Newton's formulae for the equation q(t)-1=0 and from the positivity of q' and q'' the iteration is convergent with quadratically order for every initial point  $\lambda_0>0$ . Therefore,  $\lambda_1\geq \lambda_2\geq \cdots \geq \frac{1}{\sigma}$ , i.e. the process is monotonical and one-sided.

Analogously for the iterations (20) the iteration function is of the form

$$\phi(t) := t(q(t))^{-\frac{q(t)}{tq'(t)}} = t \exp\left(-\frac{q(t)\ln q(t)}{tq'(t)}\right).$$

We have

$$\phi\left(\frac{1}{\sigma}\right) = \frac{1}{\sigma},$$

$$\phi'(t) = q(t)^{-\frac{q(t)}{tq'(t)}} \frac{tq(t) + q(t) - tq'(t)}{tq'(t)} \ln q(t).$$

From the last equation we have  $\phi'(\frac{1}{\sigma}) = 0$ , i.e. the iteration (20) has at least a quadratical order of convergence. From (19) and from the strong increasing of the function

$$\lambda = \frac{q(\lambda) - 1}{q'(\lambda)}$$

for  $\lambda > \frac{1}{\sigma}$  we have

$$\frac{1}{\sigma} \le \mu_k \le \lambda_k, \ k = 1, 2, \dots$$

Starting from  $x_0 = y_0 < \frac{1}{\sigma}$ , i.e.  $q(x_0) < 1$  the following two-sided iteration method can be constructed using procedures (20) or (21) with combination of the following regula falsi iterations

(22) 
$$x_{k+1} = x_k - (q(x_k) - 1) \frac{\lambda_{k+1} - x_k}{q(\lambda_{k+1}) - q(x_k)}, \ k = 0, 1, \dots,$$

or

(23) 
$$y_{k+1} = y_k - (q(y_k) - 1) \frac{\mu_{k+1} - y_k}{q(\mu_{k+1}) - q(y_k)}, \quad k = 0, 1, \dots$$

The following relations hold:

$$x_k \leq x_{k+1} \leq \ldots \leq \frac{1}{\sigma} \leq \ldots \leq \lambda_{k+1} \leq \lambda_k, \ k = 1, 2, \ldots$$
$$y_k \leq y_{k+1} \leq \ldots \leq \frac{1}{\sigma} \leq \ldots \leq \mu_{k+1} \leq \mu_k, \ k = 1, 2, \ldots$$

$$\lambda_k^{-1} \le \lambda_{k+1}^{-1} \le \ldots \le \sigma \le \ldots \le x_{k+1}^{-1} \le x_k^{-1}, \ k = 1, 2, \ldots$$

$$\mu_k^{-1} \le \mu_{k+1}^{-1} \le \ldots \le \sigma \le \ldots \le y_{k+1}^{-1} \le y_k^{-1}, \ k = 1, 2, \ldots$$

If we have that  $q(x_0) < 1$ , then from (22) and (23) we see that  $x_k$  and  $y_k$  for arbitrary k give lower bounds for  $\frac{1}{\sigma}$ . Respectively,  $\frac{1}{x_k}$  and  $\frac{1}{y_k}$  are upper bounds for  $\sigma$ , where k is arbitrary.

#### 5. Numerical examples

For the zero  $\sigma \approx 5.1$  of the polynomial

$$p(t) = t^6 - 5t^5 - 0.5t^4 - 0.05t^3 - 0.005t^2 - 0.0005t - 0.00005$$

from (12) we get the following bound:  $\sigma \geq 5.55555^{0.9000048} \approx 4.68$ . From (9) and (10) with  $\lambda = \frac{1}{5}$  we find respectively  $\sigma \geq 5.0999797$  and  $\sigma \geq 5.0999592$ .

For the zero  $\sigma \approx 1.992$  of the polynomial

$$p(t) = t^7 - t^6 - t^5 - t^4 - t^3 - t^2 - t - 1$$

Received: 15.10.1998

from (9) and (10) with  $\lambda = \frac{1}{2}$  we find respectively  $\sigma \ge 1.9919508$  and  $\sigma \ge 1.9919355$ .

For the same polynomial using iterations (21) and (22), we generate the two-side method for  $\frac{1}{\sigma}$  which gives

$$\lambda_0 = x_0 = 0.5 < x_1 = 0.5020170292323 < \frac{1}{\sigma}$$

$$< \lambda_2 = 0.5020170552711 < \lambda_1 = 0.502024291498.$$

Using iterations (20) and (23) we generate another two-side method for  $\frac{1}{\sigma}$  and find

$$\mu_0 = y_0 = 0.5 < y_1 = 0.5020170430612 < \frac{1}{\sigma} < \mu_1 = 0.5020204346287.$$

#### References

- [1] E. D e u t s c h. Lower bounds for the Perron root of a non-negative irreducible matrix, Math. Proc. Cambridge Philos. Soc. 92 (1982), 49-54.
- [2] J. Herzberger. Berechnung der Konvergenzordnung von Folgen bei iterativen numerischen Prozesen, In: Wissenschaftliches Rechnen (hrsg. von J. Herzberger), Akademie Verlag, Berlin (1995), 279-315.
- [3] J. Herzberger, K. Backhaus. Explicit bounds and approximations for polynomial roots in mathematics of finance, In: *Proc. of NMA'98*, Sofia, 1998 (in print).
- [4] N. K y u r k c h i e v. *Initial Approximation and Root Finding Methods*, WILEY-VCH Verlag Berlin GmbII, Berlin Vol. 104, 1998.
- [5] M. Petkovic, L. Petkovic. On the bounds of the R-order of some iterative methods, ZAMM 69 (1989), 197-198.
- [6] J. S c h m i d t. On the R-order of coupled sequences, Computing 26 (1981), 333-342.

Institute of Mathematics and Informatics Bulgarian Academy of Science Sofia 1113, BULGARIA